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(@) v s e TS SET e A R Fe . TR T W S w1 S W 16
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1. YRAR UaEa Tstea g € Wi Tl Jie W |

(a) 42 o1 43 off weAgEet '

(b) 43 3T 44 f EAGERN

(€) 44 9 SeETgEw

(d) 73 Infon 74 <t weTgEwit

et g Wy fae - o ,
(1) % (a) () (B (3 $H (9 (4) T (d)

Following are the fundamental steps towards the establishment of Panchayat Raj in India :
(a) 42" and 43" Constitutional Amendment. |

(b) 43 and 44 Constitutional Amendment.

() 44% Constitutional Amendment. '

(d) 73" and 74% Constitutional Amendment. -

Which is the correct answer of following ?

(1) (a) only (2) (b)only G} (© Onlyr (4) (d)only

2. 2003 T TERTE WA TRURGH FERAT goR FE (@ g qEe e,

(a) mmmwmmmmwmwwmmmm
TRYFE T F01,

(b). © & “A” T TRUARTY fFHH 50 kom. T . ,
(©) 1 & fRH 50% T ¥ Ydisafafiad 3at add FIU .
(@) @ & “A” I TRAfARIGT fFAH 25 kom. T @0,

el AT qIig fHaer _
(1) (a) 30 (b) aﬂat ' (2) (b) 3T () T
@) (@), (c) M (d) S (@) =i ud a0

In 2003 Government of Maharashtra brought new amendment about Nagarparishad.

(@) To establish nagarpanchayat where population is above 10 thousand and below 25 thousand
and where just urbanization in growing.

(b) That area should be 50 k.m. away from “A” Grade Nagarparishad.

(c) .In that area minimum 50% poptﬂation should be in business other than farming.
(d) That area should be 25 k.m. away from A" Grade Nagarparwhad

Select the correct options from the following :

(1) (a) and (b) correct (2) (b) and (c) correct

(3) (@), (c) and (d) correct 4) Allis correct

FHoh] HEEA IR / SPACE FOR ROUGH WORK . | PT.0.
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3. uﬁmawﬁwfa‘aﬁauﬁm’?aa&aiwsﬁww. :

A | B
(wRlt) (ad)
(a) worEd T Wedn Qb @ 1957
(b) 3TSie Wedr Qfbdt (i) 1977
- {c) tvﬁfag%ﬁ 1= gitrdt (i) 1985
() vd.uH. et wi (iv) 1986
it 3=y ;

@ () © (@
1 O @ @) @)
(2) () @) @) @
@) @) ) @ @
@) @ @ (v) ()
Match the following pairs regarding Panchayat Raj Committees and their year. .

A : ' B
(Committee) : ‘ (Year)
(a) Balawant Rai Mehata Committee (i) 1957
(b) Ashok Mehta Committee (ii) 1977
(¢) G.VK. Rao Committee (ii) 1985
(d) L.M. Singhvi Committee (iv) 1986

Answer Options :

@ ® © (@
) O @ @) )
@ @ @ @ o
(@) @@ ) @ @
@ @ O @) G
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4. T faum arm 9 fagmiE i s w1
(a) TETIE We WE Ei- oW ARG AEEH S
(b) 74 1 TEAGERI UMHWE GXqR hell L.
(c) Ofeean UFHHT STEAeH WHIHEdS Tl Yufeard.
(d) TR Jo% TURH S Aol erEu AETAH AR,

W‘h’?‘&?ﬁ‘:
1) (a) 3T (b) T (2) (a) 3N () TR
3 (), (b) 3N () T 4) (a), (c) 3T (d) T

Select correct alternative from the following :

(a) Gramsabha consist of adult civilians men and women of the village.
(b) Gramsabha came into existence by 74th Constitutional Amendment.
{c) The first Gramsabha is chaired by Sarpanch of Gramparchayat.

{d) It is mandatory to hold Gramsabha twice in a year.

Answer Options :

(1) (a) and (b) correct (2) (a) and (c) correct

(3) (a), (b) and (c) correct (4) (a), (c) and (d) correct

5. 73 oA HIAgEe |y qEte gaiEaiiet 9 9aig fae.
{a) 731 AETQEHITER YFaUS WA FARHSE Sl WS FI0I el
(b) 73 <t TeTIgEEN 1976 A HIH.
(c) HiaEFmE 11 =0 yRfrer=T TwEw FgE e,
(d) wfeeTiwEt 1/3 SN TEiE SHvawE STt

gt 39T
(1) wH (a) AN (2) T (b) ST
@) (@, (b), (© TR @ (@, (), () TR

Choose correct statement from the following about 73* Constitutional Amendment.

(a) According to 73'4 Constitutional Amendment Constitutional status was given to Panchayat
Raj Institutions.

(b) 73 Constitutional Amendment was done in 1976.

() The 11t schedule was included in the Constitution.

(d) 1/3 seats were kept reserved for women.

Answer Options :

(1) (a) only correct {2) (b} only correct

(3) (@), (b), (c) are correct 4) (@), (c), (d) are correct

F=A1 HMMETS T / SPACE FOR ROUGH WORK P.T.O.



6. @reita faur @em =,
(A) ifq smim & 1 durfres 1 g&enfes w=om o7,
(R) fifd st ffied & e Hemr=n sEer SEmeR weh o
Gt e Hahare Sl g Ty e
(1) (A) 307 (R) & St fawm 9 o1 (R) 7 (A) 9 9 SLiaa o,
(2) (A) i (R) & = fum Ha o 9 (R) B (A) 2 drd Srie T,
3) (A) % faum dra s (R) € g faum TR,
(4) (A)T TH f99H 3T (R) ? faum 9va o,

Consider the following statements :

(A) NITI Aayog is neither a statutory body nor a constitutional body.
(R) It is established by an executive resolution of the Union Cabinet.
Answer the question by using the codes given below :

(1) Both {A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not a correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

7. WRAA SfauEen ‘tF e TaE’ ¥ T i fie
(1) emRSt (2) TS AR (3) WU TeEEen (4) . fEsr
Who declared Indian Constitution as ‘a Social Document’ ?
(1) Ivor Jennings (2) Granville Austin (3) N.A. Palkhivala (4) K.C. Wheare

8. @otd faym faamm = -
(a) VIR ToAEET=AT 108 AT FHEATHR G S TURE g% S3% Srafaett .
(b) EHEW N TEw Fi= Ifech ST So% 1961 Tl Wel B,
() YRAE Had=n I Murpei faed Sg= Sow 2012 79 el
FheTdet ivw/d faum/ steT e/ ?
(1) %& (a) (2) (2) 3 (b) (3) (b) WM (c) (4) (a) M ()
Consider the following statements :
(a) The joint sitting of the two houses of the Parliament in India is called under Article 108 of the
Constitution of India.
(b) The First joint sitting of Loksabha and Rajysabha was held in the year 1961.
(c) The Third joint sitting of the two houses of Indian Parliament was held in 2012.

Which of the statement/s given above is/are correct ?
(1) Only (a) (2) (a)and (b) (3) (b and (9 (4) (a) and (o)

T FWETS AR / SPACE FOR ROUGH WORK
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9, R (oTEEA=T T &
(1) TSFEEAE Wi el
(2) WEREN e A A N,
(@)  vIRER T SR S T
(4) TIeEaen grea FHyaar Sfagee guifad
Preamble to the Constitution of India :
(1) is not a part of the Constitution.

@
@3
(

cannot be amended by the Parliament.

)
) is not a source of authority of the Constitution of India.
4)

indicates the objectives to be achieved.

—

10. RAKS * AfIvEre 3ua’ TEEEd el SuE a1,
(a) ‘*oforeame 3UE" & WA WRHE ToAwe T Ieehd HI0Ar e 3.
(b) AfHvaE 3Ua HOE=Al SIS IR TN Tod Tieal I,
et B e e ower A2
(1) T (a) (2) F (b) @ & @) TR

Consider the following statements regarding a No-confidence motion in India :

(@) The term No-confidence motion has been mentioned in the Constitution of India.
(b) A motion of No-confidence can be introduced in any of house of the Parliament.

Which of the statement/s given above is/are incorrect ?
(1) Only (a) (2) Only (b) (3) Both (4) Neither (a) nor (b)

11. %ﬁaﬁmaﬁnﬁaaﬁmﬁwﬁuﬁaw ATHR =1 GITeTyeh! Five AfeHT
arnaarta Iy ?

(1) Yeeniawa® SusRas ) siftere AfuFRE
(3) Teaias smia Afyeras 4) wRive sifveras

The power of the Supreme Court of India to decide disputes between the centre and the states falls

under its
(1) Advisory jurisdiction (2) Appellate jurisdiction
(3)  Writ jurisdiction : (4) Original jurisdiction

" TSN HWRITE IR / SPACE FOR ROUGH WORK PT.O.
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12, umﬁ%wmﬁaﬁﬁwmﬁwnﬁaﬁmm? |
(a) SRSl Fﬁ??ﬁ
(b) i< A
(c) WTESIH IUHH Fit
it I |
(1) () & (2 (o) w () @M@ (4 (@) I (Q)
Members of Rajyasabha are not associated with :
(a) Public Accounts Committee
(b) Estimate Committee
(c) Committee on public undertakings
Answer Options :. 7 , .
(1) (@) only 2 () only ® @ad®) @ @and@
13.  WIETEn FreevE SrERHide Eeer HR e s a?

(1) 1950ﬁﬁmmmﬁwammwsgqﬂ%ﬁawmﬁmmﬁﬂ

(2) W@ﬁwag@wmmmmmmmmm'
et THeg e, _

(3) STHaTd 1990 T TSR 1993 A1 Frem@sine] Froev® Em o THuEEy €.

(4) aéﬁmmwmwmammﬁam‘mﬂmwaﬂﬁmw?ﬁ?ﬁa@ﬁw

Which one of the following statements about the Election Commission of India is i.ncorrgct ?

(1) Since its inception in 1950 and till 15 October 1989, the Election Commission functioned as a
single member body.

(2) The Election Commission shall consist of the Chief Election Commissioner and such namber
of other Election Commissioners, if any, as the President may from time to time fix.

(3) From January 1990 to October 1993 the Election Commission remained single member body

(4) Since October 1989 till today, the Election Commission has been functioning as a multimember
body consisting of three Election Commissioners.

FoT HTATSY 9RT / SPACE FOR ROUGH WORK
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14. 1953 wﬁyﬁmwﬁwsmﬁﬁmﬁmmm?

(1) T v (2) TEH W (3) wIA A (4) TAT. FFE

Who among the following was not among the 3 members of State Reorganisation Committee of
1953 ? ‘ ,

(1) KM. Pannikar (2) SK. Dhar (3) Fazal Ali (4) HN. Kunzru

15. it faum foeme =,

- (a) mewﬁaﬁm%mmwﬁemm.
(b) 42 = SRAI TEAT Ta FETT FefATal FHAN T FA STl
() Wmaﬁﬁwﬁwﬁﬁwmwﬁmmmm
TRt v/ faum/S sEr aR/q?

) @&fE) (2 (@) () 3 @ o () @) (@) () 3 ()
Consider the following statements :
(a) Fundamental Duties of Indian citizens were added to the Constitution in 1976,

~ {b) The 42™ Constitutional Amendment included ten Fundamental Duities in the Constitution.

(c) Fundamental Duties were added to the Constitution by the recommendation of the Suraj
Singh Committee.

Which of the statement/s is given above is/are correct ?

1) @and®) (@ GadE @) @and© (@ () ®) and

16, YR o aWEvE gEen ara s
(1) 3Nt Jaarva de (2) <ETE YoEe A
(3) * STHUE YaalfiE Ao @) T T
- laid the basis for inclusive growth in India.
(1) 8t five year plan ‘ (2) 10t five year plan .
(3) 11 five year plan (4) None of these |

F=A1 FTHIATA AT / SPACE FOR ROUGH WORK o PT.O.
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17. Erﬁﬁaﬂaﬂa?rwwrrgéwssm ﬂmwaﬁamhwﬁmregm@gm7

(a) YNG9 g5

~(b) Edas AR 99 g

(€) TUIN TR

(d) TFHa e ae

qmift Iy : 7

1) (@), (b)) (2) (a) 3 (b) (3) (a) 3 () (@) =0 wd

Which of the following factors were responsible for disruption of five year plamung process in
India in 1965 ?

(@) Indo-Pakistan conflict

(b) * Two successive years of drought

(¢} Devaluation of Rupee

(d} A general rise in prices

- Answer Options :

(1) (@), ® and (c) (2) (a)and (b) ‘(3) (a) and (c) 7 (4) All of the above

mmﬁmmwmw%ﬁﬁmwﬁwmmﬂm

18.
@) fowd e (2) e A (3) waeRde () e e
Agricultural Development-Led growth strategy was adbpted' in _ five year plan.
(1) - Third plan  (2). Fifthplan - (3) Seventh plan '(4) ‘Tenth plan

19. e e G e S W AR 2
(1) v R

(2) s s Frafder @ HiEa

(3) it suftn yrnegm gfaar=n fasm

- (4) wEYUE

What was the main objective of First Five Year Plan ?
(1) Development of Industry

- (2) Focus on Import & Export

(3) Development of Agriculture and Infrastructure
(4) Self-reliance

AT FTGIA AW / SPACE FOR ROUGH WORK
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20. Siem = 9 TRiEE g @ fae | - \

(a) gEd et Ao (). Fea PRINT SrEwA sierE

®) < g A () A FEE 9 R JERS T

() TrEEt YeE Ao (i) FRICRE A

() T vEEfE Ao (v) Tl e SR

'ﬂ'ﬂhﬂ; JAL: . ' '

@ ® © @

O 6 @ @ @

@ @@ 6 @) @

@). @ 6 @ @

@ o G @ 6 |

Match the columns and select the correct option. . _

(a) Second Five Year Plan (i) Implementation of Family Planning Program

(b) Fourth Five Year Plan (ii) Towards faster & more inclusive Growth

(c) Fifth Five Year Plan (i) Mahalnobis Plan

(d) Eleventh Five Year Plan (iv) Objective of ‘Garibi Hatao’

Answer Options : |

@ ® © @

M O @ Gv) ()

(2) () @ Gv) (@

@ @ O @ @

@) (@v) @) @) @
21. 20 S 2016 Uit SHed grevea G Feget TREHE] SiT=r S TR F S Feia aTEH gR

FYE W ? ,
(1) =g e (2) TEEA @) far2 (4) TIS-qEE TR

Which super computer of China become the fastest super computer in the world at the computer
conference held in Germany on June 20, 2016 ?

(1) Blue Gene/P  (2) Titan (3) Tianhe-2 (4) Sunway-Taihu Light

FoA1 TS ART / SPACE FOR ROUGH WORK ‘ ‘ 7 P.T.Q.
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12 | A
wEEEta HR/ e faifea FR saad aaame ). creEd Eeiete w1E @Y e ? |

(1) FARES FHTSH @ FH A WA e aTIEiE! e e FHRon ufEen 39 ot AR,
(2) wEeid W 9T, FEE, T 91 o et 39 R,

(3) EEFE HA e 7SN TR FOANE HeR, YR SHEl S FHell AR
(4) TH ST IR N GAR 60% ¥ FRAE 2035 T WA FRE &A1 ST,

Self-Driving car/Driverless cars were recently in news. Which of the following is not true about

S it?

(1) United Kingdom has become the first country to announce regulatlon for the use of
self-driving vehicles at low speeds.

(2)  Self-driving technolog1es have been developed by Uber, Nissan, Tesla companies.

(3)  Self-driving car use lasers, sensors and radars to map their surroundmgs

(4) UK forecasts that around 60% of UK cars will have self-driving capabilities by 2035.

23.

Grefteriet S g ‘darg & gealten favefiug S e’ JieEe HRETe Wit HIE e STe 2
(1) e SR Hee 2 IFRw N |

¢) Hfemm (4) ST S Fga el HAE

Which institution has released the report titled ‘Tobacco : Poisoning our Planet ?

(1) World Health Organisation ‘(2) UNICEF
(3) NITI Aayog (4) Ministry of Health and Family Weifare

24.

T g X A e GE el 2
(1) 12 SRt 2022
(2) 24 EgaRT 2022

@) o019 2022

-(4) 08 W 2022

When did Ru551a start attack on Ukrame ?
(1) 12 Feb. 2022

(2) 24 Feb. 2022 -

(3) 01 March 2022

(4) 08 March 2022

- o] FHIETETEl WRT / SPACE FOR ROUGH WORK
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25. WiieE! Fo et <t anfn ‘ fagid sves’ = Fofa TR sirewe s ?

- () fe=ss Q) WO
(3) fafeas wiswa (4) foa s
Who among the following was one of the founders of “Silicon Valley’ and ‘Traitorous eight’ ?
- (1) Steve Jobs (2) Jay Last
(3) William Shockley (4) Bill Hewlett

26. ‘1984 TS’ W HifHereal 25 SHHihA Y1 foielle F0ama Sl a1 YA desied
el Sic! AT .

(1) 33.6 org (2) 43.6 A@ (3) 53.6 &@ (4) 66.6 T
An auction was held for page no. 25 of 1984 Spiderman Comics’, which was betted for
dollars. ' '

(1) 33.6 lakh (2) 43.6 lakh (3) 53.6 lakh (4) 66.6 lakh

27. ‘feava qarg Foy e 2022 <0 o0 FTH R
(1) darg : M G
(2) dEg : qafawrm %i’m
(3) R : ARFEE Y
'« (4)  ET w
What is the theme of the “World No Tobacco Day 2022’ ?
(1) Tobacco : A Threat to our 'Humanity |
(2) Tobacco : Threat to our Environment

(3) Tobacco : A Threat to Health

(4) Dangers of Smoking

AT FTETN ST / SPACE FOR ROUGH WORK PT.O.
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28. WHE 9GRS AN S FEATTH @
() FEIF @) &m wid-ci
(b) T (i) forct g afr et wer
() HERETE (i) e <@ safr faft swat
(d) AR (iv) WRE e
- g 3
@ (B © (@
1) @ @@ @Gv) (in)
@ ) 6 @ @)
(3) {v) @ (@ (i)
@ @ @) @ 6 |
* Match the pair of main Websites and their Founder :
(a) Facebook (i) Tim Berners-Lee
(b) Internet (i) Bill Gates and Paul Allen
(c) Microsoft (ii) Sachin Bansal and Binny Bansal
(d) Flipkart (iv) Mark Zuckerberg
Answer Options :
@@ (® (9 ()
1) O ) G ()
@ ) @ @ @)
@) ) @ @O
@ @ ) @ (.
29. T TR REA i T et S e 2
(1) = T e , (2) HIAF! TONEH &S
(3) SymEfe) e (@) =Hifere-19 =alte o™
What is the ‘Global Mercy’ which was seen in the news recently ?
(1) Non-Profit organisation (2) Civilian hospital ship
(3) Anti-Satellite missile 4) .- Covid-19 vaccine
30.

Wéﬁgﬁ@mm%ﬁvﬂmﬁwmmw EE N a?ﬁftfa"rﬁaaﬁsmﬂasﬁiﬁm

il 1948 WEA .

(1) e SEEH L2 W A

3) Wl @) WER ‘

A Velcro was produced by Switzerland engineer in 1948 as the alternate for a button
or chain for fastening two pieces of fabric.

(1) Albert Einstein (2) George D. Mestrol

(3) Rene Thury (4) Pierre Hemmer

TS FHIATS! ST / SPACE FOR ROUGH WORK
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31, STEqE T ST SISUaT SISl THART Sigvar oied; CH A, EAG, BIF, DAH,GIC, HIF
FE A C 1 uri Sievan A enfo E, G anfur B, , F sufor D, 9 E enftr D @i= S04 aied. o it
Hevidiel g 1atg fae.

(1) C 3 H Yo SIS saien A, Ed D 3 SMehiq S0 Saeash 37T,

(2) Fd A SUgEE weRl THd A S9ered A 9 W 318 E f D A0 .

(3) SRGC Arl §g FHer @ HviE A T W2 7 @ C d H 5% .

@) D,EdAH D, Ed G 92 IH HIee! Fd C WaE e 4dl,

Study the connection available with transport stations. One way connections are C to A, Eto G, B
toF,DtoH, GtoC, HtoF and E to C. Two way connections are between A and E, G and B, , F and
D, and E and D. Select the option that is false with respect to this information.

(1) For travelling from C to H one must pass through A, E and D.

(2) There is only one rout available for travelling from F to A and it is to pass through E and D.
(3) If rout is GC is closed one can travel from C to H without visiting A.
(4)

4)  One can travel from F to C by visiting either D, Eand A or D, E and G.

32. Wi $TFda gra-ar=n fSwml wowd g agd ?

14 8 ? 27 |

17 | 240 le 98 |19 [ 591 15 | 407

—

(1Hn 20 (2) 34 (3) 31 4 13
Which number will replace the question mark in following figure ?

14 | 8 | ? 27

L17 240 12 | o8 19 | 591 15 | 407

1) 20 (2) 34 3) 31 @) 13

33, T HEAEN 7 A 5 PN BI; Ty iastt e 59 OF 73 9 e et 6 25 ST T Y I
T ITEA WIfgs ?

(1) 35 2) 12 (3) 49 4) 25

One number has to multiply by 7 and divide by 5 but by mistake it is multiplied by 5 and divided
by 7, the answer is 25, then what should be the correct answer ?

1) 35 2) 12 (3) 49 (4) 25

FoA1 FHET AR / SPACE FOR ROUGH WORK PT.O.
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34, 1710 <t Hiche-Sed F&A &, TF, ], 919 3 Hall fohan Qesa . % f&1 & | it i o=
I FAIHER Iaedl. wgE! foddl Taia FH HHIRGE IAEA,  HrE fowd et A, PR 5F
HFA! THE FHHIRER Fi1 foF= SaEed AR, hium=ig fa&d 1, 59 10 9 3@ T,

R & mifedt v 7w W feem wiaida v faum anif 9@ oTR.
(1) FErd fowd 9 shwiRIaR Iatet.

(2) A foFl A=A av=AT FHHihET .

(3) I fad sk 2 9 IaTedl.

(4) W foRd AT 6 T I

Dina, Manu, Kanu, Jayu and Zeba are playing hopscotch on a grid with the numbers 1 to 10. Only
Dina and Manu throw their stones onto even numbers. Jayu’s stone lands on lower number than,
anyone else’s. Kanu's stone lands on number seven. No two persons throw their stone on same
number. Nobody’s stone lands on numbers 1, 5 and 10.

If this information is true then select the definitely true statement from given options.
(1) Zeba’s stone land on number 9.

(2) Kanu’'s stone lands on the higher number than Manu’s.

(3) Jayu’s stone lands on number 2.

(4) Manu's stone lands on the number 6.

35, TeioAT TOEIETIE THTE! Wifedt ST Tl WAl sTeied Tardl T2 gy gy fest
F, D =41 ufyaden 1 fedian ome.
B, E =1 qden 1 fdier oTe.
A, E =1 San 2 fhier amR.
C, A = gdet 1 frdiar e,
E, D =1 Zfemen 1 feie ame.
ﬂ'ﬂf‘iﬁ‘ L
() A CHB (2 A DSE ) CBJE (4) EBAD
Study the information about the mutual positions of villages and select the option that indicates
the group of villages that are in line.
F is 1 km to the west of D,
B is 1 km to the east of E.
A is 2 km to the north of E.
C is 1 kmn to the east of A.
E is 1 km to the south of D.
Answer Options : _
(1) A, CandB (2) A DandE (3 CBandF (4) EBandD
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36.

17 : T15
w1 femgre fowmol o wem T ?
795 =58
684 = 44
586 =?
1y 30 (2 14 () 34 (9 32

What number should replace the question mark ?

795 = 58
684 = 44
586 =?

1) 30 2 14 . 3y 34 4 32

37.

Teh! Tohd WUMEHITHR ‘ge ji zo' ¥ Hehd ‘had pleasant dream’ W& FTdl. ‘Lit zo pit’ &1 Hehd ‘realize
your dream’ Wit &l ST ‘ge ze pat ze’ 81 Hhd ‘very very pleasant experience’ Wia&ud T,
1 Hehd WUTSATER ‘your’ =1 Hehd faet.

(1) lit. (2) =zo. (3) pit. . (4) pit fean it

In certain code ‘ge ji zo’ represents “had pleasant dream’; ‘lit zo pit’ represents ‘realize your dream’
and ‘ge ze pat ze’ represents “very very pleasant experience’. Select code that represents ‘your’.

1) Lt @) zo. () pit. (4)  Either pit or Lit.

38.

3%38@&@110%%@%@@@6@@ il ZHhan Tt ?

5, ) 6, _
(1) 45% @) 4SHA1 @) 5477% (4) 55%

A batsman scored 110 which included 3 boundaries and 8 sixes. What percentage of his total
scored did he make by running between the wickets ?

. 5, 6,
1) 45% (2) 4553% (3) 54 7% (4) 55%
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39.

18 ‘ | A
"A’ AU BT FA U 21 5 3R, o AT SO 63 G ‘A’ Y qG F 2
@ 21 2 16 (3) 18 @ 27
The age ratio of ‘A’ & ‘B’ is 2 : 5. If the sum of their ages is 63, What is the age of A ?
1 21 2) 16 (3) 18 @) 27

40.

’C’H‘P"ﬁﬁW%’B’ﬁﬂﬁmwﬁﬂfﬂ?mmﬁ.l’C’ﬁmﬂﬁ-ﬂfﬂTaﬁ—a@mWﬁaﬁT
WIS . ‘A’ 3% ‘B’ ¥ WISy IR, Q& ‘C = qerlt M. ‘R’ ¥ P S e IR, ‘S’ P ¥ Sey
. T & ‘S =t o TR, SR W 9 3T § TR HAWeledn St st frae, '
1) C R @ QP - (3 RamfiC @ TafmQ

'C’ and ‘P’ are siblings and children of ‘B but ‘B’ is not their mother. ‘C’ is not the brother of only

son of their parents. A’ is the spouse of ‘B’. ‘Q’ is the daughter of ‘C’. ‘R’ is son of ‘P’. ‘S’ is spouse
of ‘P’. “T" is mother of ‘S’. Select the pair of persons who are nephew and aunty from fathers side
respectively.

(1) CandR . (2) QandP (3) RandC

4) TandQ

41.

AfFwS WeA+! fafy=1 asm swe A, B, C, D 30f01 E a1 AWfEeAie dre<t 7 Ra. B 99 A =T
oA fH SR, B2 oW C =41 a9H=A1 e 9R T S R, D ¥ 99 C 41 SSHIAT §WE 3R, E
= 99 D =1 SSHIA1 G 378, A 9 TS E o1 IoMI96T S 3T, ST a5t C 41 SSTTael Sid ST,
1 D 2 E @ B (4 C

-Aziz has iron lumps labeled A, B, C, D and E each having-different weight. B weighs half as much

as A. B weighs four and half as much as C. D weighs twice as much as C. E weighs twice as much
as D. A weighs more than E which weighs more than C. Select the lump that will not change its
rank if they are arranged according to descending or ascending order of their weights.

(1) D (2) E 3 B - (4) C

42,

IR, 18 TR foearat T 60% TR el 38 9 A AwE ST, U STt gwiHl e
fraer
22 (2) 24 3) 30 (4) 34

A business women had to repay a loan in some equal instalments without interest as per agreement

_with bank. ‘She found that she refunded 60% of her loan after paying 18 instalments. Select the

number of instalments that were in the agreement. _
(1) 22 {2) 24 (3) 30 : 4 ‘34
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43. ¥ N TEE W S el S @R STER e SR TS UL, 3 F W A WA 9w
o, ud WA fawll it Sieee omka. P Foawf 31 fed, o o At 20 AR, W W23 A, A a
Y 18 Farelt, A A L 17 T sufor B A W 25 Fee @i . ﬁmﬂﬁmﬁmm
HeAl HIE AR hAH SR .

M 86 @) 93 @) 91 (4) 83

Ilive in a village Nere and I want to visit my therapy clients living in nearby villages Pere, Tere and

. Sere. All villages are connected by two way routes. Length of the route from Pere to Nere is
31 km, from Tere to Pere is 20 km, from Sere to Pere is 23 km long, Nere to Tere is 18 km, Tere to
Sere 17 km, and. from Sere to Nere is 25 km long. Select the shortest distance that I requlre to cover
visits to my clients and return to Nere.

(1) 86 @ 9 @) 91 @ 83

44, A @ FEHT B Aan TGl STHAAT P=(A W 40%) + (B S 65%) M Q=(A A 50%) + (B 50%) FRA.
o1 Heufa At S faur T o ? | |
(1) P Qi Har o, . @ QuPlmHE
(3) P eforQ @M 34, | () TS FvEE Frerd GEigE® $redl AR &L
P=(40% of A) + (65% of B) and Q=(50% of A) + (50% of B) where A is greater than B.
In this context, which of the following statement is correct ?
(1) P is greater than Q. - (2) Qis greatér than P.
(3) ‘PisequaltoQ. (4) None of the above can be concluded with certainty.

45. T IEFR THH TH g9 I k. Wﬁmmﬂquwmwﬂﬂaamméﬁﬁ

4 YBA TIET Y G, AR Al YSAIE W& 16 T aeaet v ot wredt weuRE 1 Hiew
FHATET Befl. AT Sieg] M YSA=A1 Tehe el 9] il faer 36 Fem Bl SR 379 §YaR 8 @

mmwﬁﬁwﬁéﬁﬁmﬂanﬁﬁmmﬂ%%www%mmm
feaEi=t He seren feearae frasr

(1) 100 (2) 50 (3) 48 | | (4) 45

Ratan has square field which is exactly one hectare. On Monday he was surprised to find
4 mushrooms growing en a 1 m square formation, in the centre of his field. On Tuesday the group
of mushrooms had expanded to 16, which were all 1 m apart. When he looked at the group of -
mushrooms today it had expanded to 36. If today is Wednesday, and if area covered by mushrooms
continues to expand at this rate select the number of more days mcludmg today, are required to
cover Ratan's field completely except touching its fence.

(1) 100 ) 50 (3) 48 (4) 45

FeeA1 A 9N / SPACE FOR ROUGH WORK | | ~ PTO.



20 A

T15
46. amrtm:ﬁaﬁmﬂamahl n’mqu‘MzanﬁTWﬁ#T 56%\@?@'@@?&%?%@? T T T
TERH A9 F9H W@ STeite 3 g gt ATEE FIAE! SR
e = wevia g faum faer
(1) ﬁéwaaaﬁwmmﬂaﬂam‘rwam%a _
(2) R HAGHA S 7 due Wﬁeﬁmﬁéwaﬁ%wmaﬂwsaﬂa’rmw e,
(3) R srEATIRET SRS 7 A9 et et T feden SR queE S 7 siet S v T
(4) R TReEEE 7 A9t wHt srael o fadiedn SR T o 7 Sl S0 e AT,
Teacher requested children to plant 21 rose saplings, 42 jasmine saplings and 56 hibiscus saplings.
These are to be planted such that each row contains the same number of saplings of each variety.
- Select the false statement with respect to above conditions. :
(1)  There would be only 7 rows possible as per given condition.
(2)- It is possible to have 3 rows if teacher gives 7 more saplings of }ublscus that satisfy above
. condition.
(3) If teacher gives 7 less saplings of hibiscus then it is not possible to have 7 rows that satlsfy
given condition.
(4) Itis possible to have 7 rows that satisfy given condition even if 7 less saplings of hibiscus.
47. lemmﬁﬁﬁémmwmﬁﬁ%mﬁﬁaﬁ9mﬁﬁwm€m
W ﬁ?ﬁﬁ fafe fraet ,
1) - ' (2) 33 3 31 (4) 30
: Select the minutes before 12 noon if 32 minutes ago it was three times as many minutes before past
9 am. .
(1) 37 (2) 33 3 31 4 30
48. Tl A’ F B HE STl Feaw UL 7: 9 AR, R ‘A7 AdeARiil 6 Fes ‘B el et T A
STTFA Ui 1: 3 1. ‘A’ B’ A9 e Tw % fadt smea 2 ' '
(1) 28 2 32 3 36 (4) 40
The number of fruits in a basket ‘A" and ‘B’ are in the ratio 7 :'9. If 6 fruits are taken out from ‘A’
and put in ‘B’, then the ratio becomes 1 : 3. The total number of fruits in ‘A’ and ‘B’ is :
(1) 28 2 32 : (3 36 (4 40
49. 400 Hi. siarEeT dife™ Sre i, mﬁwgmwmmwm

ﬂﬂtﬂ%ﬂmﬁl@ﬁmﬁ&ﬁﬁﬁméﬂﬂlsﬁmﬁmmqﬁa Wmm@a\ﬂﬁ

| SR T ?

(1) 300 4. (2) 350 Hl. (3) 400 Hi. (4) 800 Hl.
A thief is stopped by a policeman from distance of 400 metres. When the policeman starts the

© chase, the thief also starts running. Assuming the speed of thief as 10 km/hr and that of policeman

as 15 km/hr how far the thief would run, before he is captured ?
(1) 300 mt (2) 350 mt.. (3) 400 mt. . (4) 800 mt.
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50. mmmémﬁﬂgﬁmﬁw@a:%—?7,3@—?4?&@%&&745.@%13@%9&51&%

=
e S AT
(I T I I T R

70 100 200 300 400 500 - 600 700
mmmmmﬁmmmmaﬁm@mmﬁm

Aquarium charges for visitors are as follows: Adults X 7, Children - T 4, Senior citizens - ¥ 5.
When aquarium closed entries for today, the total charges collected as per age groups are shown

in the accompanying chart. Select the pie chart that shows number of visitors in each age group
that paid for entry today.

Senior
Citizens

DI B BT B A P I e
0 100 200 300 400 500 600 700

Adults Children

Senior
citizens
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- 51.

22 A

4 T69 941 6 T, wmzoﬁamaﬂmm mzwagmﬁmﬁammmw
e ?

(1) 20 feaw @ 10f@@ (@) 15 faw 4) 22 feaw

4 men or 6 women can do a piece of work in 20 days. In how many days 2 men and 9 women
together can do the same work ? -

(1) 20 days (2) 10 days - (3) 15 days . (4) 22 days

52.

ﬁmawwﬁuﬁaﬁ? 1,50,000/- & T 2,40,000/- Wwwaﬁm aufen W@
?'65000/ TRIFE] STl O A AT Fhe,

(1) ¥ 30,000/~ 3nfT T 35,000/- (2) ¥ 5,000/- AT 60,000/-
(3) ¥ 25,000/- 3T T 40,000/ - (4) T 32 000/ - afor T 33,000/ -

Priya and Sharada started a business by investing ¥ 1,50,000/- and T 2,40,000/- respectively.
Distribute the year end profit of ¥ 65,000/- among them.

(1) % 30,000/~ and ¥ 35,000/ - (2) ¥ 5,000/- and ¥ 60,000/-
(3) T 25,000/- and X 40,000/- (4 % 32,000/~ and % 33,000/

53.

S B T 60 TR T i T g 40 R, 7 A A P 3 A Pt R w2
1) 42 fe@ @) 100 femm @) 2af@@ (4 30 faw

Raju finishes a work in 60 days, Sanju finishes the same work in 40 days. In how many days will
both finish the same work ?

(1) 42 days (2) 100 days - (3) 24 days (4) 30 days

54.

Tehi FHAAT 500 Warel 9. Wt 45% YO F 20% Hel Bt T S yareais! e fhd ?
(1) 175 . ) 150 (3) 166 (@) 180

An alrplane carries 500 passengers, 45% men and 20% are children. Then the number of women
in the au'plane is :

(1) 175 @ 150 (3) 166 o 4) 180

o1 FHTEI ART / SPACE FOR ROUGH WORK
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23 ' : ‘ T1F

T 16,000 Fermreiienn <<t fema <X e 5% it 6+l €. TR GF Tl e e fohed ?
1) T15400  (2) T 13,640 (3) T 14,440 (4 T 15540

The value of machine decreases at the rate of 5% every year. If the present value of machine i
¥ 16,000. What will it be after two years ? :

(1) ¥ 15,400 2) 13,640 (3) T 14,440 4) T 15540

56.

ﬁwﬁ?500@ﬁ%ﬂ?ﬁ%mnmwﬁm@r,@uﬁ?600@1@%@@?66661%,a::
et w1 T Hunen v faeren sufr faRdt ? o
1) PRI 1% (2)  qREm 1% (3) PR 2% 4) TUREN 2%

If Niraj sold a watch of cost price ¥ 500 to T 560 and Tushar sold a watch of cost price ¥ 600 to
¥ 666, then who got more profit and how much ?

(1) Niraj, 1% (2) Tushar, 1% (3) Niraj, 2% (4) Tushar, 2%

(—2—.3)><(5+3)+(—3—2)-

57. W : T T T-5
1) 96 2 96 3) -96 @) 69
cotve . (2-HX(B+3)1(3-2)
(<6—4) +(~7 -5)
(1) 9 @ 96 @ -96 @ 6.9
58, <M HEATHl WA § WIS SR 4329 72 IR IR Th WA 216 3 R AN GO FEL.

1 72 (2) 144 (3) 48 (4) 36

The LCM and HCF of two numbers are 432 and 72 respectwely If one of the number is 216 then
find another number.

a 72 (@ 144 @) 48 | @ 36

59.

—_—

A R oo w20 S T e W A e B ?

1) 14 » @) 16 @) 20 @) 26
The average of 7 consecutive odd numbers is 20. Find the largest number among them.
1 14 " (2) 16 (3) 20 (@) 26
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60. {(82+152)5}3=
(1) 289 (2) 4913 (3) 4624 (4) 4813
1
(8% +15%)2) =
1) 289 2) 4913 (3) 4624 (4) 4813
61. 'W-WWWWWWE .
(1) ST e T (2) I E G G A |
(3) I AR (4) T viga WA &=
- Income tax paid by a sole proprietor on his business iricome should be
(1) Debited to Trading A/c - (2). Debited to Profit & Loss A/c
(3) Recorded as liability (4) Deducted from caI:;ital account in the Balance-sheet

- 62. (a)

®)

(©)

faAidt vga =aEm FHaEREEa Ul eramehatt At 29,

e FIUR T/ T SR SR ?

(1)
3)
(a)
(®)

©

(a) e , @ (@ T (b) T
(b) 3T (c) : @ (2, (b) 3 () ,
Double Entry System gives full accounting information about the business transaction.

Under Double Entry System only the personal aspects of the transaction are recorded in the

books and the impersonal aspects are ignored.

Double Entry system is incomplete, inaccurate and unscientific.

Which of the statement/s given above is/are correct ?

(1)
-3

(@) only - (2 (a) and (b) only
(b) and (c) only 4) (@), (b) and (c)

F=AT FETER! 9T / SPACE FOR ROUGH WORK
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63. IVl ITAEIE §H e TaEvi/AY Ths T 3a¢ A4 ?

(a) RN TR M S qHERa

(b) TEF WA U AR FHERar

(c) WIS TERH ST ST AERa

(d) WISt WA T T IRAH

Tl SR faur/faum SRt TR/ o1k ?

(1) (a) wxd (2) (b) (3) (a) 3 (b) (4)  (c) 3T (d)

For which payments Petty Cash Book is maintained ?

(a) Small amount and low frequency

(b) Small amount and high frequency

(c) High amount and high frequency

(d) High amount and low frequency

From above statement/s which is/are the correct ?

(1) (a) only (2) (b)only (3) (a) and (b) 4 (9 and (d)

64. WCTHH] HIVRAT F2 AITATFRIGN IS Hedl AT AN ?
(1) TERTS TEaehidre e Seadter 38t
(2) T gHOe e 2o
(3) TR TOR{ SO gEEr TR TR T4
(4) TETRH Fers e
Which of the following errors are not disclosed by Trial balance ?
(1)  Error in casting the books of subsidiary records.
(2) Error in balancing the account.

(3)  Error in carrying forward the total of one page to another page.

(4) Error of principle of accounts.

F==41 FHENS TR / SPACE FOR ROUGH WORK P.T.O.
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66.

26 A

Grefierish! VR G & ST S e ?

(1) o=ia = 2 =t

(3) oS feo == @) S foaeEe s

Out of the following which is not personal account ?

(1) Interest outstanding (2) Interest paid

(3) Interest pre-paid (4) Interest received in advance

% 80,000/~ TSI STerelt WAl 50,000/~ T WS Feft. oo} Hvra ST fevhems
yegar ot AT T 50,000/- o7t Fvam Ada ?

(1) TE HI9T HeheT! @) fhaa dwer

() TR0 Y5 dwew (4) s w6

As per which of the following concept, an asset of market value ¥ 80,000/- purchased for ¥
50,000/~ will be recorded in the books of account at T 50,000/ -

(1) Money measurement concept (2) Cost concept

(3) Dual aspect concept (4) Al of the above
67. 9 fa%T Feten T IR,
1) raieer g4 2) T Tw
(3) STHIFeT TH (4) EEE TH
Profit on sale of an assetis
(1} Non-operating Expenses (2) Operating Profit
(3) Non-operating Profit (4) Normal Profit
68. FF WS B AHic W He TAUAEIS) FaR Fel .

1) Yu freas suftn s foeas

(2) U@ gHEEEY dF Fecw

@) Ta freas st IS e

@) =l wd |

Bank reconciliation statement is prepared to reconcile the difference in
(1) Cash balance and bank balance

(2) Bank balance as per the cash book

(3) Cash balance and passbook balance

(4) Al of these

FHT HATEIS AT / SPACE FOR ROUGH WORK
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69. &y e snfor gl s SeRrEsfa S wikdrE Hi AR,
(1) gre (2) wEEd (@) i (4) I

is mainly concerned with recording of financial data relating to the business operations
in a significant and orderly manner.

(1) Book-keeping (2) Accounting . (3) Costing (4) Management
70. AR FiaTn SR oo s s EE o T L

(1) =R ER ' (2) 9 RGN

() BN Er (4) =OAYeR! T

| Cérriage Inwards paid on the purchase of office furniture should be debited to

(1) Trading A/c (2) Profit & Loss A/c

(3) Furniture A/c . (4) None of the above
71. fordra aaforr W @i ST TR 0 S,

1) =l @ Twafadm  (3) dREE 00 @) stewd

Labour charges account is transferred to | account at the end of the financial year.

(1) Trading (2) Pro‘fit &Loss (3) Balance sheet (4) All theabove
72. HUHICT UAM ARl VG e UL GG

(1) %z @Em (2) TS @™

(3) W™ @M @) forEm .

The cash discount allowed to a d_ebtdr, credited to .

(1) Cash Account - (2) Customer’s Account

(3) Discount Account (4) Sales Account
73. W qeERE i ¥ A TR .

1) EF "o @ e S

3) e fequ | @) wEE

is the soufce document for recording in purchase book.
(1) Inward invoice (2) Outward invoice
(3) Cash Memo | (4) Voucher

FAT FHETE AFN / SPACE FOR ROUGH WORK ' PT.O.
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74. TR UK @R ¥ TRAH (Real) @It M T (Nominal) @1 T 2

(1) IFs @[ 2) W ER

3) Wigad @) : 4) wTRER |
- Which of the following is not Real account and Nominal account ?

(1) Cash account (2) Furniture account

(3) Capital account © - (4) Salary account

75. @i S SRR S e N A e R .

(a) UM fant ' - SfeE fast g
(b) TEHHFT WA R - fomt wa g
(c) @GR - e O T
(d) YEASTERIET . R - E WA E\E
TR VT At SER SR ?

(1) (a) B |

(2)  (a) NPT (b) FF
3) (@) (b) 3 (c)

@ (@) 0), (© () -
Following information is given regarding transactions and its primary Entry Book.

Transaction ' Primary Entry Book
(a) : Credit sales - Sales Day Book
(b) Goods Returned by customer - Return Outward Book

(c) Cash Purchases ' - Purchase Day Book
{d) Goods returned to suppliers Return Inward Book
Which of the above option is correct ?

1) @only

(2) (a) and (b) only

(3) (a), (b)-and (c)
(@) (a), (b) (c) and (d)

76. % SleTgHE T THEEAER T g .
1y T (2) w o @ ™ . @ IRy
Bank overdraft means balance as per passbook. .

(1) Debit (2) Credit (3) Closing (4) Opening

FoAT FNTHIS AT / SPACE FOR ROUGH WORK
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77. SR A sy, enger faee A el S, e @ ahre A __ = fesspoft el ST,
(1) ¥ (2) T
. (3) T It drer @ o (4) = ER
When ‘goods have been packed in a special way to comply with order these would be charged to
(1) Trial Balance ' (2) Balance sheet
(3) Profit and Loss Account (4) - Trading Account

78. eI St geR-II i e e,

i | i

() T AR () = afrE
(b) ferd wae (if) - T A
(c) wefis &= (i) TErE i Ay
(d) v/ et el  (iv) oA HIeE
it 3| '

@ (b (9 (9
1 @ @O @) (@)

@ O @ v G
) O @ @) (i)

@ @ @ @ v
Match the following List-I with List-II.

List-I List-I1
() Goodwill of a company (i) Current liability
(b) Over draft _ (ii) Fixed assets
() Preliminary Expenses (iii) Reserves & Surplus
(d) General Reserve {iv) TFictitious assets

Answer Options :

@ () (9 (9
1 @) @ v @)
@ @O @ @) ()
@ O @ @ (G
@) ) @ @) G
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79. @ @ T 5,00,000 N HER T2,00,000 N HE SHEAEE GEAR FOAR S,

IR AFF A .
' T o)
(a) Uws @M BIC T 5,00,000
FiTeR @ T % 2,00,000
wigad @r T 7,00,000
(b) THsS @ T ¥ 5,00,000
- B @R & T 2,00,000 |
, WY an | % 7,00,000
(¢ TwEErR I T 5,00,000 o
| Hie @ _ T 2,00,000
RGREE 1N ¥ 3,00,000
() weEmaER T - T7,00,000 |
s @n | % 5,00,000
i @ S ¥ 2,00,000
ot =g/ araT a2 '
1) (2 v -2 )%
3) (o) 3 (d) T o @ @ .0) ()

Commenced Business with cash T 5,00,000 and furniture ¥ 2,00,000.
The above transaction-is in the Books of Ramesh.
Correct entry of this transaction is . : ,
' | Debit Credit

(@) Cash A/c Dr. ¥ 5,00,000
 Furniture A/c Dr. ¥ 2,00000 .
To Capital A/c T 7,00,000
() Cash A/c Dr. ¥ 5,00,000
Furniture A/c Dr: T 2,00,000
To Ramesh A/c - ¥ 7,00,000
{¢) Cash A/c ‘ Dr.  ¥5,00,000 | ,
' To Furniture A/c ' T 2,00,000
" To Ramesh A/c ' T 3,00,000
(d) Capital A/c . Dr. T 7,00,000 :
To Cash A/c : ‘ Z 5,00,000
~ To Fumiture A/c | T 2,00,000
Which is/are correct entry ? '
1 @only - (2) (b)only :
(3) (d)and{d)only 4) (a). ®). (c) and (d)

Fo FETATS AR / SPACE FOR ROUGH WORK
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'80. TR faurien faer #4. , _ |
FoET (1) - FTTRRAT T JEaed (Book value) SRITETEY U FRAT ST =670 9Tt S,
ﬁaﬁ'(n)-maﬁﬁ@mmmmaﬁ. |
i |
1) faur (1) see aafor fyar (1) <.
2 faum () 0 farerr (1) 9=
@) < faw 5=
(4) e e L
Consider the f_ol]bwiﬁg statements. -
Statement (1) - Depreciation is a pefmanenf and continuous decrease inlthe book value of an asset.
Stateﬁent tII) - Depreciation concept is similar to maintenance.
Answer Options : | |
(1) Statement (II) is coﬁect and Statemeqt (I) is incorrect.
(2) Statemeﬁt {I) is correct and Statement (1) is incorrecﬁ

{3) Both the Statements are incorrect.

(4) Both the Statements are correct.

81. | %aﬂaﬂmmnﬁqﬁmw
(1) e fogeé Tl @) v fm
(3) e i, frw v (4) Y9

is the Chairperson of GST Council.
(1) Governor of RBI (2)° Union Finance Minister

(3)  Chief Secretary, Finance De‘:parﬁnent (4) Prime Minister

1 HMTIS AFN / SPACE FOR ROUGH WORK PT.O.
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82. WSMHLOTALY FEHR WL =7 Hedish TN — FIHRE 271101 e - A WS THEHE T
(1) VR ITRH qrieRa (2) %&n?ﬁf—rmm#rrrﬁm%
(3) L SUIRAI STIiel Tl AN (4) 'aﬂauaﬁ

In privatisation, undervaluation of Government assets implies sustainable losses to the Government
and therefore for the

(1) Partners of the Govt. enterprises ’ (2) Tax-payiﬁg' citizens of the country

(3) Non tax-paying citizens of the country (4) All the above

83. YNATiiel STfYfe GuROnfawt Grciereh! ﬁvﬁﬁﬁ fayurm/ weg 3me/a?
(a) TN SR e e st A fen e
() FH &S geie w
(o) FH e S v e fog e,

(d) D foie TheaEEe T gige HeEe.

iR |
(1) (@, A (2 (@ O @) @ @7 @) T wE
Which of the following statement/s is/are true about economic reforms in I.ndia- ?
(a) Thé reforms process has emphasized- the growth of rr;anufacturing and senﬁce sectors.
(b) Agriculture sectors was neglected.
(¢} The public investmenf in agriéulture has shown a deciine.
(d) The growth rate of i.rrigatedrarea under minor irrigation has slowed down.

Answer Options :

(1) () (b) and (c} (2) (a),‘ (byand (d) (3) (a), (c) and (d} (4) Allof the above
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84. 1980@3%%&&@3@@%%@@@%31&@% T H0 B

(1) sTEm st Fratdda wea T

(2) == S AT FE |

(3) wEHE @ I e AR A S

(4) \RTOR ST QSIS FE .

The fiscal crisis faced by the Indian economy in 1980s was caused by

(1) Widening gap between imports and exports

(2) Difference between savings and investment

- (3) Widening gap between government expenditure and revenue
(4) Difference between demand and supply

85. O] S A FHUREA WrEACTIH! FU F AT Bl T 7

1) T (2 e A
(3) hE Rt W (4) W qeE
Which tax is not subsumed under GST ?
1) Service Tax (2) Excise Duty
. (3) Central Sales Tax - | (4) Customs Duty

86. WM@OM)%WWWWWWWWWWWW
fafaa et e

(@) 40 I 30 T (b) 47 anfor 32 T

(©) 50 3Tt 45 T ©(d) 55 anfT 50 T

TR IO T S SR SR ?

(1) 9 (a) (2) S (o) (3) ¥ (d) (4) B (b)

Rangrajan Committee (2014), defined poverty line in terms of per capita per day expenditure for
~ urban and rural area as . :

(a) T40and T 30 (b)) T47 and T 32

) T50and T 45 (d) Z55and T 50

Which of the above options is/are correct ? R

(1) Only (a) (2) Only () (3) Only (@) (4) Only (b)
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87. WIS AR WeeIsmid, SRS dfgw wuer e o T A, |
(1) SRR Q) W= | (3) MR IfR (4) = wd
Under WTO, Trade Related Intellectual Property Rights (TRIPs) covers

(1) Copyright (2) Patents (3) Trade secrets  (4) All of the above

88. 1991 =1 oA ik UROTH Eefieriat Hiow Aferes A2
(1) i waE R )} W ST et ST St
(3) fagsh aavmmien WarRl (4) MRTP WA HigA 60
Which of the following was not a feature of the New Industrial Policy-19917?
: (-1)‘ Abolition of industrial licensing (2) Sethng up of new public sector entei'prises

(3) Permission to foreign investment (4) Removal of MRTP limit

89. WICHeTIh! HIUR SAIR FHeifUr JAarT[eh SUrA Hewars Hferey T ?
(1) TS HiaEde 9 S gram-qﬂﬁ.
(2) TR S T TR i 9 e R e e .
(3) T HIAd o H W T TAHUOl AT B I3,
(4) N T o Fou A SIRTA W A GAAHIIR SR .
Which of the following is noé a main feature of the Trade Related Investment Measures (TRIMs) ?
1) ’All restrictions on foreign capitél should be scrappéd. | |
(2)  Foreign investor will not get the same rights as a national investor in the matter of investment.
(3) Imports of raw materials & components will be allowéd freely.

(4) Foreign investor will not be obligéd to use local products & materials.
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90. ‘i, Arran YT TEAE HU' § U0 A & A

(1) 1990 (2) 1993 (3) 1995 (4) 2000

Build Operate and Transfer (B.O.T.) Policy started from

(1) 1990 (2) 1993 (3) 1995 (4) 2000

91, I GEAW WEWGH WIEhT RVl SUTE S ?
(1) ImfEm (2) W (3) ¥ @) =m
VAT started first in which of the following countries ?

(1) America (2) France (3) India (4) China

92. ANl FH Frafa wgw frafd=m 20% Yan w9 STHUETen Wiefierih N HeH HROTYT e 2
(a) U frafd grnE S
(b) FEI-Wiska F TrreieR sl
() g ST FHwaT
(d) TR i 9w Sl gl giadrar JAvE
it 3T |
1) @ OMEQ @ @ CTD @) () D) @) Faw

Which of the following is/are the main reasons for Indian agriculture exports continuing to be less
than 20% of total exports ?

(a) Poor export infrastructure

(b) Low level of agri-processing

(c) Low level of quality branding

(d) Lack of fast track inland and mechanical port handling

Answer Options :

(1) (a), (dyand (c) (2) (a), (b)and (d) (3) (a)and (b) (4) Al of the above

FHT MR AR / SPACE FOR ROUGH WORK PT.O.




T15 36

93, il SAUFHHRT WA SIFTfaeh SR Here= T st et
(1) 1S Far, 1957 (2) 1S Ha, 1991
(3) 1 vHER, 1995 (4) 1 TERT, 1998

World Trade Organisation (WTO) was established as the successor to the GATT on
(1) 1% January, 1957 (2) 1% January, 1991

(3) 1%t January, 1995 (4) 1%t January,1998

94, YS! VT THaIE AT ¢ 3T, FWH 9 Scaehal’ JiaT W1 TugT STl B ?
(1) fee deanfie g (2) =it dEaitien g
(3) et daETfteE G (4) o daTeE e

Which of the following five year plans focused on “Food, Work and Productivity” ?

(1) Bt Five Year Plan (2) IVt Five Year Plan
(3) VIt Five Year Plan (4) IXth Five Year Plan
95. WA SR GEAT (WTO) e JedE <.
(1) fowefa (2) U @ @mE ) T R T
World Trade Organisation (WTO) promotes trade.
(1) Bilateral (2) Multilateral ~ (3) Both (1) and (2) (4) None of these
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37 Ti5
e T SEare (2015) w@?ﬁaﬁﬁaﬁvﬁrﬁm'w Mg ?
1) wwwmwamwwmm
(2) HRAEI Hedr SR GaavpEnid 2000 TR ¥ B 3.
(3) 2008 W& RATER HaT=d WHIUIA a0 Fefl .
(4) 2001 ¥ ¥ ST, ST AW HEAN A [FEUFS FH HRAET HeHl ST SR

Which of the following statement is true as per the World Investment Report (2015) ?

(1) FDI outflows from India were equal to FDI inflows in India.

(2) Since 2000, there has been a fall in FDI outflows.

- (3) The peak FDI outflow took place in 2008.

(4) China has kept FDI outflow at a relatively lower level than India barring the year 2001.

97.

aﬁﬂaﬂaﬁﬁwﬁm%wﬁaﬂwm 9 AERISae aRvmTEEy fegH Jam 2

(2) YT AW stigHET= ST e

(b) IR Afafawrs

R Sy P AR—

(d) o FErE H@did 9e

Sy SN |

O @OIG @ @EANG @ GEm@ @ 6w

Which of the following have been observed as affects of globalization on labour markets ?

(@) Increase in the share of capital in value added

~(b) Casualization of labour

(c) Lower wages in lower ranks of work
(d) Increase in part-time jobs
Answer Options :

() (@) ®)and (@ (2) (a), (b)and () (3) ()and(d)  (4) Allof the above
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18, TRl SrefoeedeAl A SHIRT SFHOIAT WU _ =i
(1) SR (2) @i (3) ot (4) SOSUH THE AR
refers to the interaction of the domestic economy with rest of the world.

(1) Liberalisation (2) Privatisation (3) Globalisation ~ (4) None of the above

9. T ST Tefed ST e eyt wree e S,

(a) 1983 G 6.4%
(b) 1999-2000 () 6.9%
(c) 2004-2005 (i) 7.08%
(d) 2008-2009 (iv) 7.93%
qidt I

@ () () (@
M @) @ G @
@ @ @ @b W)
@) @) @) @) @
@ @) @ @ G

Match the columns indicating share of organized sector in employment in India.

(a) 1983 G 6.4%
(b) 1999-2000 - (i} 6.9%
(c) 2004-2005 (i) 7.08%
(d) 2008-2009 (iv) 7.93%

Answer Options : - 4

@ @ © @

1) @) @ O @

@ O @ @ @

@ @ @ v 6
@ ) & 0O @
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" 100, GEEE Firen gt S frfed G omRd ?

(a) IR ST SR JerHen o .

(b) WS STEEE fima UR0 qedhET SidE deieR Ui T,

() ST STHRAN TN SN FEH GRS 3.

(d) . FrESITR STHA ST qRemaT Jgdiay s Wy <.

M @EIG @ @@ @ TR @) FEE

Which of the following are the major problems faced by public sector enterprises ?

{(a) Public enterprise Amanagementhas little initiative left.

(b)  Public enterprises’ pricing policies are not guided by rational economic principles.

(¢) Budgets of public enterprises are based on hard policies. '

(d) The Mgérs of public enterprises become procedure-oriented rather than outcome-oriented.

Answer Options :

1)

(a), (b) and (c) (2) (a),- (b)and (d) (3) Allof the above (4) Only (a)

~-00o0-
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(8) wyTgRaewe fafts o fafire wrie =2 &™ (v 9%) 9. wergRaF=aRiieT SaTuihaT a1 gax
HITETET Hed B Hedid o HUT H0ATAT AW HS T8, 3F THS TR § WY SHATET A Srd
Fdwn “wharme Furr mr wfiey sy sfafan-2" adie TEAER SREE FEE 356
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